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. SECTION A
' {(Marks : 19)

-
* ' Question No. 1 is compulsory.

‘ Attempt three questions.

I. ‘(ét) Cr(II) and Cu(ll) show tétragoqally distorted
octahedral structures. Justify.

(b) Why are ionic crystals hard but brittle while metals

are hard, malicable and ductile ?
>

(c) Which of the following compounds will have higher
B.P. ? Justify your answer:

(i) HF or HCI
(ii) o-nitrophenol or p-nitrophenol
(d) Which will be more covalent and why ?
SnCl, or SaCl, (2,2,2,1)
P.T.O.
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2. {a) Write MO diagram for the following and arrange

them in order of increasing stability :

V 02’ 0_2+’ 02-

(b) Which will be more stable and why ?

PCLF, or PCLF,

(¢) Compare the stability of le, 2e and 3e bonds.
{2,2,2)

3. (a)_ What is trans-effect ? Predict the product in the
following reaction :-
Cl 2-

l +2 NH,
Cl-Pt-Cl | ——3 5 Product(?)

I
Cl

(b) Which complex has higher magnitude of A, and
why ?

[Co(NH,) 6]3+ or [Ir(NH3) 6]3+

{c) BaS‘O‘1 is ionic in nature but it is insoluble in water,
why ? A (2,2,2)

4. (a) What is crystal field theory ? Explain.

(b) Calculate the CESE of octahedral high spin

and low spin complexes corresponding to d°
configuration.
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(c) Explain Electrostatic polarisation
bonding theory of trans effect.

" SECTION B

theory and =
(2,2,2)

Attempt any three questions.

Q. No. 1 carries 7 Marks.

1. (a) Using Sequence rules, assign R/S configuration to

the following :

"CHO CH,
H————Br " ]
* iy N
HO——H - "H
2
CH3 CZHS
(1) (i)
CH,
= CH,
HS S——_ ey C| H OH
i | COOH
(iit) v (4) .

(b) Define aromaticity and indicate.

following is aromatic ?

which of the

PT.O.
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(i) (ii) (3)

2. (a) Draw the Newmann projection for anti. gauche
and fully eclipsed conformation of 1,2-dichloroethane
and indicate which will be more stable and why ?

(3)
(b) What happéns when methyl magnesium iodide
reacts with
(i) Ethane nitrile followed by hydrolysis
(ii} Methanal followed by hydrolysis 3)

3. (a) Discuss and give mechanism for any one of the
following name reactions

{i) Aldo! condensation

(it) Perkin condensation : (4)

(b) Using sequence rules, assign F/Z notations to the
following geometrical isomers :

Ph> <NH2 c1> <CHO
H CH, H CH,

(i) (i) (2)
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4. Attempt any three from the following :

(a) Giving reasons, indicate the increasing order of
reactivity towards electrophilic substitation

reactions for the following compounds : .

e el

§)) (i) + (i) {iv)

(b) Out of ecthanamine and aniline, which one is more
basic and why ?

(c) Which of the following will give lodoform test and

why ?
(i) Pentan-2-one (ii) ethanal
(iit) methanol (iv) butan-2-ol

(d) Why ‘tertiary haloalkanes undergo nucleophilic
substitution via S 1 mechanism ? (2x3)

(300)****



